

BIROn - Birkbeck Institutional Research Online

Hubbert, Simon and Janin, J. (2023) Generalised Wendland functions for the sphere. Advances in Computational Mathematics 49 (3), ISSN 1019-7168.

Downloaded from: https://eprints.bbk.ac.uk/id/eprint/49521/

Usage Guidelines:

Please refer to usage guidelines at https://eprints.bbk.ac.uk/policies.html contact lib-eprints@bbk.ac.uk.

or alternatively



Generalised Wendland functions for the sphere

Simon Hubbert¹ · Janin Jäger² □

Received: 23 October 2021 / Accepted: 8 December 2022 © The Author(s) 2023

Abstract

In this paper, we compute the spherical Fourier expansion coefficients for the restriction of the generalised Wendland functions from d-dimensional Euclidean space to the (d-1)-dimensional unit sphere. We use results from the theory of special functions to show that they can be expressed in a closed form as a multiple of a certain $_3F_2$ hypergeometric function. We present tight asymptotic bounds on the decay rate of the spherical Fourier coefficients and, in the case where d is odd, we are able to provide the precise asymptotic rate of decay. Numerical evidence suggests that this precise asymptotic rate also holds when d is even and we pose this as an open problem. Finally, we observe a close connection between the asymptotic decay rate of the spherical Fourier coefficients and that of the corresponding Euclidean Fourier transform.

Keywords Positive definite kernels · Spherical basis functions · Compact support **Mathematics Subject Classification (2010)** 33B10 · 33C45 · 42A16 · 42A82 · 42C10

1 Introduction

Positive definite functions are frequently used in scattered data fitting algorithms both in Euclidean space and on spheres: see [31]. The special case of the 2-sphere is of importance in geostatistics where positive definite functions are used as covariance functions of random fields on the surface of the earth, [8, 10, 15, 18] and [11]. The aim of this paper is to investigate the generalised Wendland functions, a parameterised family of compactly supported basis functions which, for a certain parameter range, are strictly positive definite on \mathbb{R}^d . In the opening section, we present the background to positive definite kernels defined on Euclidean space and on the unit

Communicated by: Robert Schaback

Published online: 10 January 2023

☑ Janin Jäger janin.jaeger@ku.de

Lehrstuhl Numerische Mathematik, Justus-Liebig University, 35392 Giessen, Germany



Department of Economics, Mathematics and Statistics, Birkbeck, University of London, Malet Street London, WC1E 7HX, UK

sphere. We will pay particular attention to the restriction of Euclidean positive definite functions to the sphere and state an identity that connects the Fourier transform of the Euclidean function to the spherical Fourier coefficients of its restriction to the sphere. In Section 3, we introduce the family of generalised Wendland functions, setting out their known properties including their Euclidean Fourier transforms and the rates at which they decay. Then, in Section 4, we make use of the aforementioned connection identity to derive an expression for the spherical Fourier coefficients of the generalised Wendland functions restricted to the sphere. In the final section, we examine the asymptotic rate of decay of the spherical Fourier coefficients where we provide tight asymptotic bounds. In addition, when the functions are restricted to an even dimensional sphere, we provide the precise asymptotic rate of decay and present numerical results to suggest that the same decay holds for the restriction to odd-dimensional spheres too.

The class of generalised Wendland functions, as their name suggests, contains the original Wendland functions, which are popular in applications due to their simple polynomial form. Many researchers have employed the original Wendland functions on the sphere and, for these functions, the asymptotic behaviour of the spherical Fourier coefficients has been addressed. However, as far as the authors are aware, a precise formula for the coefficients has not previously been made available. A closed form of the coefficients is necessary for the use of recently proposed numerical methods such as the stable computation via Hilbert-Schmidt SVD ([12, Chapter 13]) and also for the spectral simulation of Gaussian random fields as described in [17].

Of the work that is related to ours, we mention [22, Proposition 3.1] which gives a precise asymptotic form for the spherical Fourier coefficients of the original Wendland functions; however, the constant multiplying the decay factor is not explicitly given. In addition, le Gia et al. [19, Section 6] have considered scaled versions of positive definite functions and show that if their Fourier transforms decay at a polynomial rate then, when restricted to the sphere, their corresponding Fourier coefficients decay at the expected analogous rate; however, precise asymptotic rates are not given.

2 Radial and zonal kernels

Definition 2.1 A kernel $\Phi : \Omega \times \Omega \to \mathbb{R}$ is said to be strictly positive definite on a domain Ω , if, for any $n \geq 2$ distinct locations $\mathbf{x}_1, \ldots, \mathbf{x}_n \in \Omega$, the $n \times n$ matrix

$$\left(\Phi(\mathbf{x}_j, \mathbf{x}_k)\right)_{j,k=1}^n \tag{2.1}$$

is symmetric and positive definite.

For the class of radial kernels taking the form $\Phi(x, y) = \phi(||x - y||)$, we have the following characterisation theorem (see [31, Theorem 6.18]).



Theorem 2.2 A radial kernel $\Phi(x, y) = \phi(\|x - y\|)$ with $\phi : [0, \infty) \to \mathbb{R}$ such that $r \mapsto r^{d-1}\phi(r) \in L_1[0, \infty)$ is strictly positive definite in \mathbb{R}^d if and only if the d-dimensional Fourier transform

$$\widehat{\phi}(z) = z^{1 - \frac{d}{2}} \int_0^\infty \phi(y) \, y^{\frac{d}{2}} \, J_{\frac{d}{2} - 1}(yz) \, dy, \tag{2.2}$$

where $J_{\nu}(\cdot)$ denotes the Bessel function of the first kind with order ν , is non-negative and not identically equal to zero.

We let Φ_d denotes the class of continuous functions ϕ associated to the strictly positive definite radial kernel via $\Phi(\mathbf{x}, \mathbf{y}) = \phi(\|\mathbf{x} - \mathbf{y}\|)$, where $\mathbf{x}, \mathbf{y} \in \mathbb{R}^d$. If we assume that $\widehat{\phi}(z)$ (2.2) is positive for all $z \geq 0$, then we can appeal to the theory of radial basis functions (see [31]) to deduce the following result.

Theorem 2.3 Let $d \ge 1$ denote a fixed spatial dimension and Φ be a strictly positive definite radial kernel on \mathbb{R}^d with $\widehat{\phi}(z) > 0$ for all $z \ge 0$. Define

$$N_{\phi} := \left\{ f \in L_2(\mathbb{R}^d) : \|f\|_{\phi}^2 = \int_{\mathbb{R}^d} \frac{|\widehat{f}(\boldsymbol{\omega})|^2}{\widehat{\phi}(\|\boldsymbol{\omega}\|)} d\boldsymbol{\omega} < \infty \right\}, \tag{2.3}$$

where $\|\cdot\|_{\phi}$ is a norm induced by the inner product

$$(f,g)_{\phi} := \int_{\mathbb{R}^d} \frac{\widehat{f}(\boldsymbol{\omega})\widehat{g}(\boldsymbol{\omega})}{\widehat{\phi}(\|\boldsymbol{\omega}\|)} d\boldsymbol{\omega}. \tag{2.4}$$

Then N_{ϕ} is a real Hilbert space with inner product $(\cdot, \cdot)_{\Phi}$ and reproducing kernel Φ .

Remark 2.4 We note that if there exist positive constants $\kappa_1 < \kappa_2$ such that

$$\frac{\kappa_1}{(1+z^2)^{\lambda}} \le \widehat{\phi}(z) \le \frac{\kappa_2}{(1+z^2)^{\lambda}}, \quad z \ge 0, \tag{2.5}$$

where $\lambda > \frac{d}{2}$, then the space N_{ϕ} in (2.3) is a reproducing kernel Hilbert space which is isomorphic to the Sobolev space

$$H^{\lambda}(\mathbb{R}^d) := \Big\{ f \in L_2(\mathbb{R}^d) \cap C(\mathbb{R}^d) : \|f\|_{H^{\lambda}(\mathbb{R}^d)}^2 = \int_{\mathbb{R}^d} |\widehat{f}(\boldsymbol{\omega})|^2 (1 + \|\boldsymbol{\omega}\|^2)^{\lambda} d\boldsymbol{\omega} < \infty \Big\}.$$

Furthermore, under the same assumption, it can be shown that N_{ϕ} and $H^{\lambda}(\mathbb{R}^d)$ are norm-equivalent (see [32]).

We now consider the spherical case. We let $S^{d-1} := \{x \in \mathbb{R}^d : ||x|| = 1\}$ denote the (d-1)-dimensional unit sphere. Then, for any points $\xi, \eta \in S^{d-1}$, we write $\xi^T \eta = \cos(\theta)$ to denote their dot-product where T denotes the transpose of a vector and θ is the angular distance between the two points.

The zonal kernel $\Psi(\xi, \eta) = \psi(\xi^T \eta)$ induced by any continuous function ψ : $[-1, 1] \to \mathbb{R}$, possesses a Fourier-type expansion in spherical harmonics

$$\Psi(\boldsymbol{\xi}, \boldsymbol{\eta}) = \psi(\boldsymbol{\xi}^T \boldsymbol{\eta}) = \sum_{m=0}^{\infty} \sum_{n=1}^{N_{m,d}} \widehat{\psi}_m \mathcal{Y}_{m,n}(\boldsymbol{\xi}) \mathcal{Y}_{m,n}(\boldsymbol{\eta}), \tag{2.6}$$

3 Page 4 of 21 S. Hubbert, J. Jäger

where $\{\mathcal{Y}_{m,n}: n=1,\ldots,N_{m,d}\}$ is a real orthonormal basis for the space of spherical harmonics of degree m and the collection $\{\mathcal{Y}_{m,n}: n=1,\ldots,N_{m,d}, m\geq 0\}$ forms a real orthonormal basis for $L_2(S^{d-1})$.

Using Schoenberg's [30] pioneering work, it can be shown that if the expansion coefficients $\widehat{\psi}_m$ are positive for $m \ge 0$, then Ψ is a strictly positive definite kernel on S^{d-1} . This simple condition is sufficient for our purposes but the reader may consult [7] for a careful investigation of the necessary and sufficient conditions.

Spherical harmonics provide a Fourier analysis for the sphere. In particular, every $f \in L_2(S^{d-1})$ has an associated spherical Fourier expansion

$$f = \sum_{m=0}^{\infty} \sum_{n=1}^{N_{m,d}} \widehat{f}_{n,m} \mathcal{Y}_{m,n},$$
 where $\widehat{f}_{n,m} = (f, \mathcal{Y}_{m,n})_{L_2(S^{d-1})} = \int_{S^{d-1}} f(\xi) \mathcal{Y}_{m,n}(\xi) d\omega_{d-1}(\xi).$

The following theorem is the spherical analogue of Theorem 2.3.

Theorem 2.5 Let $d \ge 2$ denotes a fixed spatial dimension and Ψ a strictly positive definite zonal kernel on S^{d-1} for which the Fourier expansion coefficients $\widehat{\psi}_m$ are strictly positive for all $m \ge 0$. Define

$$N_{\psi} = \left\{ f \in L_2(S^{d-1}) : \|f\|_{\psi}^2 = \sum_{m=0}^{\infty} \sum_{n=1}^{N_{m,d}} \frac{|\widehat{f}_{n,m}|^2}{\widehat{\psi}_m} < \infty \right\}, \tag{2.7}$$

where $\|\cdot\|_{\psi}$ is a norm induced by the inner-product

$$(f,g)_{\psi} := \sum_{m=0}^{\infty} \sum_{n=1}^{N_{n,d}} \frac{\widehat{f}_{n,m} \widehat{g}_{n,m}}{\widehat{\psi}_{m}}.$$

Then N_{ψ} is a real Hilbert space with inner product $(\cdot, \cdot)_{\psi}$ and reproducing kernel $\Psi(\xi, \eta)$.

Remark 2.6 We note that if there exist positive constants $c_1 < c_2$ such that

$$\frac{c_1}{(1+m^2)^{\lambda}} \le \widehat{\psi}_m \le \frac{c_2}{(1+m^2)^{\lambda}}, \quad m \ge 0,$$
 (2.8)

where $\lambda > \frac{d-1}{2}$, then the space N_{ψ} defined in the previous theorem is norm equivalent to the Sobolev space

$$H^{\lambda}(S^{d-1}) := \Big\{ f \in L_2(S^{d-1}) \cap C(S^{d-1}) : \sum_{m=0}^{\infty} \sum_{n=1}^{N_{m,d}} (1+m^2)^{\lambda} |\widehat{f}_{n,m}|^2 < \infty \Big\}.$$

We let Ψ_{d-1} denotes the class of continuous functions ψ associated to the strictly positive definite zonal kernel $\Psi(\xi, \eta)$ via (2.6). The class Ψ_{d-1} is important in the field of spatial statistics where certain elements can be proposed as correlation functions that induce geodesically isotropic covariance functions. The notation used in



the spatial statistics literature can easily be retrieved from that presented above. Specifically, the addition theorem for spherical harmonics [16, equation (1.24)] states

$$\sum_{n=1}^{N_{m,d}} \mathcal{Y}_{m,n}(\boldsymbol{\xi}) \mathcal{Y}_{m,n}(\boldsymbol{\eta}) = \frac{N_{m,d}}{\omega_{d-1}} \frac{P_m^{(d-2)/2}(\boldsymbol{\xi}^T \boldsymbol{\eta})}{P_m^{(d-2)/2}(1)}, \quad \boldsymbol{\xi}, \boldsymbol{\eta} \in S^{d-1},$$
 (2.9)

where P_m^{λ} denotes the λ -Gegenbauer polynomial of degree m, ω_{d-1} denotes the surface area of S^{d-1} and $N_{m,d}$ denotes the dimension of the space of spherical harmonics of degree m given by

$$N_{0,d} = 1$$
 and $N_{m,d} = (2m + d - 2) \frac{(m+d-3)!}{(d-2)!m!}$. (2.10)

Using this, we can see that if ψ belongs to Ψ_{d-1} , then it satisfies

$$\psi(\cos(\theta)) = \sum_{m=0}^{\infty} b_m \frac{P_m^{(d-2)/2}(\cos\theta)}{P_n^{(d-2)/2}(1)}, \qquad \theta \in [0, \pi],$$
 (2.11)

where following Daley and Porcu [9], the sequence $\{b_m\}_{m\geq 0}$ in (2.11) is called the (d-1)-Schoenberg sequence. This sequence is related to the spherical Fourier coefficients (2.6), using (2.9), by

$$b_m = \frac{N_{m,d}}{\omega_{d-1}} \widehat{\psi}_m, \quad m = 0, 1, 2, \dots$$
 (2.12)

In the framework of Gaussian random fields $Z = \{Z(\xi) : \xi \in S^{d-1}\}$ that are continuously indexed over S^{d-1} , we suppose Z has constant mean and covariance function $C(\xi_1, \xi_2) = \text{cov}\{Z(\xi_1), Z(\xi_2)\}$, for $\xi_1, \xi_2 \in S^{d-1}$. If ψ belongs to Ψ_{d-1} and additionally satisfies $\psi(1) = \psi(\cos(0)) = 1$, then it can be proposed as a correlation function that induces a geodesically isotropic covariance function via

$$C(\xi_1, \xi_2) = \sigma^2 \psi(\xi_1^T \xi_2), \qquad \xi_1, \xi_2 \in S^{d-1}, \tag{2.13}$$

where $\sigma^2 > 0$ is the variance of Z. A wide range of parametric families of correlation functions have been proposed for applications in spatial statistics, see for instance, [8, 10, 15] and [11].

A source of functions from Ψ_{d-1} can easily be accessed by taking $\phi \in \Phi_d$, then using the relation $\|\xi - \eta\| = \sqrt{2 - 2\xi^T \eta}$, for $\xi, \eta \in S^{d-1}$, one can define its restriction to S^{d-1} by

$$\Psi(\boldsymbol{\xi}, \boldsymbol{\eta}) = \psi(\boldsymbol{\xi}^T \boldsymbol{\eta}) = \phi\left(\sqrt{2 - 2\boldsymbol{\xi}^T \boldsymbol{\eta}}\right). \tag{2.14}$$

In this regard, we have the following formula [23, Theorem 4.1] which links the spherical Fourier coefficients of Ψ to the radial Fourier transform $\widehat{\phi}(z)$,

$$\widehat{\psi}_m := (2\pi)^{\frac{d}{2}} I\left(m + \frac{d-2}{2}\right) \quad \text{where} \quad I(\gamma) = \int_0^\infty z J_\gamma^2(z) \widehat{\phi}(z) dz. \tag{2.15}$$

In the spatial statistic literature, the above approach is known as the chordal distance based model. It has received constructive criticism around its flexibility, mainly



3 Page 6 of 21 S. Hubbert, J. Jäger

due to the fact that the chordal (Euclidean) distance underestimates the angular distance between points on the sphere (see [26] and [15] for further discussion).

3 The generalised Wendland functions

We will investigate a family of parameterised basis functions that is generated by a truncated power function. Specifically, we choose a support parameter $\epsilon > 0$ and define

$$\phi_{\mu,0}^{(\epsilon)}(r) := (1 - \epsilon r)_+^{\mu} = \begin{cases} (1 - \epsilon r)^{\mu} & \text{for } 0 \le r \le \frac{1}{\epsilon}; \\ 0 & \text{for } r \ge \frac{1}{\epsilon}, \end{cases}$$

and consider

$$\phi_{\mu,\alpha}^{(\epsilon)}(r) := \frac{1}{2^{\alpha - 1} \Gamma(\alpha)} \int_{\epsilon r}^{1} \phi_{\mu,0}^{(1)}(t) t \left(t^2 - (\epsilon r)^2 \right)^{\alpha - 1} dt, \quad r \ge 0, \tag{3.16}$$

where $\mu>0,\ \alpha>0$ and $\Gamma(\cdot)$ denote the Gamma function. We note that $\phi_{\mu,\alpha}^{(\epsilon)}$ is compactly supported on $\left[0,\frac{1}{\epsilon}\right]$.

This class is a subclass of the Buhmann functions originally introduced in [4] (see also [34]). This specific class was first studied by Zastavnyi in [33]. Applications of this function class as covariance functions of Gaussian random fields are discussed in [3].

For a certain selection of the μ and α parameters, we can recover, from formula (3.16), both the original Wendland functions and also the so-called missing Wendland functions. It is for this reason that elements of this family are referred to as the generalised Wendland functions. The original Wendland functions are recovered when the space dimension d is odd, α is a positive integer k and $\mu := \ell = \frac{d+1}{2} + k$, i.e. the smallest integer that still allows positive definiteness. In this case, one can show that

$$\phi_{\ell,k}^{(\epsilon)}(r) = p_k(\epsilon r)(1 - \epsilon r)_+^{\ell+k},$$

where p_k is a polynomial of degree k. The missing Wendland functions are recovered when the space dimension d is even, and $\mu := \ell = \frac{d}{2} + k$, i.e. once again the smallest integer that still allows positive definiteness. The missing Wendland functions have two polynomial components, one with a logarithmic multiplier $L(r) := \log\left(\frac{r}{1+\sqrt{1-r^2}}\right)$ and one with a square root multiplier $S(r) := \sqrt{1-r^2}$ (see [29]).

The *d*-dimensional Fourier transform of $\phi_{\mu,\alpha}^{(\epsilon)}$ was computed in [5] and is given by

$$\widehat{\phi_{\mu,\alpha}^{(\epsilon)}}(z) = \frac{C_{\lambda,\mu}}{\sqrt{2\pi}\epsilon^d} {}_1F_2 \left[\begin{matrix} \lambda \\ \lambda + \frac{\mu}{2} & \lambda + \frac{\mu+1}{2} \end{matrix}; -\left(\frac{z}{2\epsilon}\right)^2 \right], \tag{3.17}$$

where

$$\lambda := \frac{d+1}{2} + \alpha \quad \text{and} \quad C_{\lambda,\mu} := \frac{2^{\lambda} \Gamma(\lambda) \Gamma(\mu+1)}{\Gamma(2\lambda + \mu)}$$
 (3.18)



and where ${}_{1}F_{2}(a;b,c;z)$ denotes the hypergeometric function (see [1, 15.1.1]). Hypergeometric functions will feature heavily in this work and so we briefly remind the reader that a general hypergeometric function is defined by

$${}_{p}F_{q}\begin{bmatrix} a_{1} & \cdots & a_{p} \\ b_{1} & \cdots & b_{q} \end{bmatrix}; z \end{bmatrix} = \sum_{n=0}^{\infty} \frac{(a_{1})_{n} \cdots (a_{p})_{n}}{(b_{1})_{n} \cdots (b_{q})_{n}} \frac{z^{n}}{n!}, \tag{3.19}$$

where

$$(c)_n := c(c+1)\cdots(c+n-1) = \frac{\Gamma(c+n)}{\Gamma(c)} \text{ for } n \ge 1,$$
 (3.20)

denotes the Pochhammer symbol, with $(c)_0 := 1$.

It is known (see [5]) that $\phi_{\mu,\alpha}^{(\epsilon)}(z) > 0$ if and only if $\mu \geq \lambda$. Thus, with such a choice, $\phi_{\mu,\alpha}^{(\epsilon)}(r)$ induces a strictly positive definite and compactly supported radial kernel on \mathbb{R}^d . The following formula, taken from [14], provides the asymptotic behaviour for ${}_1F_2$ hypergeometric functions for large argument t

$${}_{1}F_{2}\left[\begin{array}{c}\alpha\\\rho\alpha&\rho\alpha+\frac{1}{2}\end{array};-\frac{t^{2}}{4}\right] = \frac{\Gamma\left(2\rho\alpha\right)}{\Gamma\left(2\rho\alpha-2\alpha\right)}\frac{1}{t^{2\alpha}}\left[1+O(t^{-2})\right] \\ + \frac{\Gamma\left(2\rho\alpha\right)}{\Gamma\left(\alpha\right)}2^{1-\alpha}\frac{1}{t^{2\rho\alpha-\alpha}}\left[\cos\left(t+\frac{\pi}{2}\left(\alpha-2\alpha\rho\right)\right)+O(t^{-1})\right].$$

Setting $\alpha := \lambda$, $\rho \alpha := \lambda + \frac{\mu}{2}$ and $t := \frac{z}{\epsilon}$, we deduce that

$${}_{1}F_{2}\left[\begin{array}{c}\lambda\\\lambda+\frac{\mu}{2}\lambda+\frac{\mu+1}{2};-\frac{z^{2}}{4\epsilon^{2}}\right]=\frac{\Gamma\left(2\lambda+\mu\right)}{\Gamma(\mu)}\left(\frac{\epsilon}{z}\right)^{2\lambda}\left[1+O\left(\frac{\epsilon^{2}}{z^{2}}\right)\right]\\+\frac{\Gamma\left(2\lambda+\mu\right)}{\Gamma(\lambda)}\frac{1}{2^{\lambda-1}}\left(\frac{\epsilon}{z}\right)^{\lambda+\mu}\left[\cos\left(\frac{z}{\epsilon}-\frac{\pi}{2}(\lambda+\mu)\right)+O\left(\frac{\epsilon}{z}\right)\right] \quad (3.21)$$

as $\frac{z}{\epsilon} \to \infty$.

Using (3.17) and (3.18), we can also deduce that

$$\widehat{\phi_{\mu,\alpha}^{(\epsilon)}}(z) = \epsilon^{-d} \left[\frac{2^{\lambda} \Gamma(\lambda) \mu}{\sqrt{2\pi}} \left(\frac{\epsilon}{z} \right)^{2\lambda} \left[1 + O\left(\frac{\epsilon^2}{z^2} \right) \right] + \sqrt{\frac{2}{\pi}} \Gamma(\mu + 1) \left(\frac{\epsilon}{z} \right)^{\lambda + \mu} \left[\cos\left(\frac{z}{\epsilon} - \frac{\pi}{2} \left(\lambda + \mu \right) \right) + O\left(\frac{\epsilon}{z} \right) \right] \right]. (3.22)$$

For $\mu > \lambda > 1$, it is the first term that determines the asymptotic decay and we can conclude that

$$\widehat{\phi_{\mu,\alpha}^{(\epsilon)}}(z) \sim \frac{2^{\lambda} \Gamma(\lambda) \mu}{\sqrt{2\pi}} \frac{\epsilon^{2\alpha+1}}{z^{2\lambda}} \text{ as } \frac{z}{\epsilon} \to \infty.$$
 (3.23)

For the case $\mu = \lambda > 1$, the first and second terms need to be considered for the asymptotic decay and we can conclude that

$$\widehat{\phi_{\lambda,\alpha}^{(\epsilon)}}(z) \sim \frac{2^{\lambda} \Gamma(\lambda+1)}{\sqrt{2\pi}} \frac{\epsilon^{2\alpha+1}}{z^{2\lambda}} \left[1 + \frac{1}{2^{\lambda-1}} \cos\left(\frac{z}{\epsilon} - \pi\lambda\right) \right] \text{ as } z \to \infty.$$
 (3.24)



3 Page 8 of 21 S. Hubbert, J. Jäger

To investigate the native space, we assume $\epsilon > 0$ to be fixed. We know from the definition of the asymptotics that $\widehat{\phi_{\mu,\alpha}^{(\epsilon)}}(z) \sim g(z)$ is equivalent to

$$\gamma(z) := \frac{\widehat{\phi_{\mu,\alpha}^{(\epsilon)}}(z)}{g(z)} \to 1 \quad \text{for} \quad z \to \infty.$$

Since both $\widehat{\phi_{\mu,\alpha}^{(\epsilon)}}(z)$ and g(z) are strictly positive and continuous for z>0, we can deduce that for any arguments larger than some $z_0>0$, the infinum, $c_1>0$, and supremum, $c_2>0$, of γ are well defined. This proves that

$$c_1 \le \frac{\widehat{\phi_{\mu,\alpha}^{(\epsilon)}}(z)}{\frac{2^{\lambda}\Gamma(\lambda)\mu}{\sqrt{2\pi}} \frac{\epsilon^{2\alpha+1}}{z^{2\lambda}}} \le c_2, \quad z \ge z_0, \quad \mu > \lambda > 1, \tag{3.25}$$

and

$$c_{1} \leq \frac{\widehat{\phi_{\mu,\alpha}^{(\epsilon)}}(z)}{\frac{2^{\lambda}\Gamma(\lambda+1)}{\sqrt{2\pi}} \frac{\epsilon^{2\alpha+1}}{z^{2\lambda}} \left(1 + \frac{1}{2^{\lambda-1}} \cos\left(\frac{z}{\epsilon} - \pi\lambda\right)\right)} \leq c_{2}, \quad z \geq z_{0}, \quad \mu = \lambda > 1.$$
(3.26)

If we assume that $z_0 > 1$ then, for any $z \ge z_0$, we have that

$$0 < (1+z^2)\left(1 - \frac{1}{z_0^2}\right) = z^2 - \left(\frac{z^2 - z_0^2 + 1}{z_0^2}\right) \le z^2 \le (1+z^2),$$

and thus

$$0 < \frac{1}{(1+z^2)^{\lambda}} \le \frac{1}{z^{2\lambda}} \le \left(1 - \frac{1}{z_0^2}\right)^{-\lambda} \cdot \frac{1}{(1+z^2)^{\lambda}}, \quad \lambda > 1, \quad z \ge z_0 > 1.$$

From (3.25) we can now deduce that

$$\frac{\tilde{c}_1 \epsilon^{2\alpha+1}}{(1+z^2)^{\lambda}} \le \widehat{\phi_{\mu,\alpha}^{(\epsilon)}}(z) \le \frac{\tilde{c}_2 \epsilon^{2\alpha+1}}{(1+z^2)^{\lambda}}, \quad z \ge z_0, \quad \mu > \lambda > 1,$$

where

$$\tilde{c_1} := \frac{2^{\lambda} \Gamma(\lambda) \mu}{\sqrt{2\pi}} c_1, \quad \text{and} \quad \tilde{c_2} := \frac{2^{\lambda} \Gamma(\lambda) \mu}{\sqrt{2\pi}} \left(1 - \frac{1}{z_0^2}\right)^{-\lambda} c_2.$$

The above inequality can be extended to $z \ge 0$ (albeit with potentially different constants) since $\widehat{\phi_{\mu,\alpha}^{(\epsilon)}}(z)$ is strictly positive and continuous on $[0,z_0]$. For the case $\mu = \lambda$, we can perform the same first step on (3.26) to show

$$\frac{\tilde{c_1}\epsilon^{2\alpha+1}}{(1+z^2)^{\lambda}}\left(1+\frac{\cos\left(\frac{z}{\epsilon}-\pi\lambda\right)}{2^{\lambda-1}}\right)\leq \widehat{\phi_{\mu,\alpha}^{(\epsilon)}}(z)\leq \frac{\tilde{c_2}\epsilon^{2\alpha+1}}{(1+z^2)^{\lambda}}\left(1+\frac{\cos\left(\frac{z}{\epsilon}-\pi\lambda\right)}{2^{\lambda-1}}\right),$$

for $z \ge z_0$. Now using $-1 \le \cos(t) \le 1$ and that $\lambda > 1$, we can simplify the above to write

$$\frac{c_1^* \epsilon^{2\alpha+1}}{(1+z^2)^{\lambda}} \le \widehat{\phi_{\mu,\alpha}^{(\epsilon)}}(z) \le \frac{c_2^* \epsilon^{2\alpha+1}}{(1+z^2)^{\lambda}}, \quad z \ge z_0 > 1,$$



where c_1^* and c_2^* are positive constants given by

$$c_1^* := \left(1 - \frac{1}{2^{\lambda - 1}}\right) \tilde{c_1}, \quad \text{and} \quad c_2^* := \left(1 + \frac{1}{2^{\lambda - 1}}\right) \tilde{c_2}.$$

Again, the inequalities can be extended to $z \ge 0$ due to the continuity of the positive Fourier transform on $[0, z_0]$.

Summarising, we have proven that for $\mu \ge \lambda > 1$, there exist positive constants $\kappa_1 < \kappa_2$ such that

$$\frac{\kappa_1 \epsilon^{2\alpha+1}}{(1+z^2)^{\lambda}} \le \widehat{\phi_{\mu,\alpha}^{(\epsilon)}}(z) \le \frac{\kappa_2 \epsilon^{2\alpha+1}}{(1+z^2)^{\lambda}}, \quad z \ge 0.$$
 (3.27)

We remark that the constants κ_1 and κ_2 are not necessarily fully independent of the choice of ϵ ; however, the given bounds allow us to use Theorem 2.3 and Remark 2.4 to deduce that when $\mu \geq \lambda$, $\Phi(\mathbf{x}, \mathbf{y}) = \phi_{\mu,\alpha}^{(\epsilon)}(\|\mathbf{x} - \mathbf{y}\|)$ defines a reproducing kernel of a Hilbert space that is norm equivalent to the Sobolev space $H^{\lambda}(\mathbb{R}^d)$.

For details on the influence of the scaling parameter on the bounding constants, we refer the reader to [32] Lemma 1, [6] Lemma 4.8 and also the recent paper [28].

4 Generalised Wendland functions for the sphere

In this section, we will consider the restriction of $\phi_{\mu,\alpha}^{(\epsilon)}(r)$ to the (d-1)-dimensional unit sphere S^{d-1} . Using (2.14) and (2.6), we can write

$$\phi_{\mu,\alpha}^{(\epsilon)}\left(\sqrt{2-2\boldsymbol{\xi}^T\boldsymbol{\eta}}\right) = \Psi_{\mu,\alpha}^{(\epsilon)}(\boldsymbol{\xi},\boldsymbol{\eta}) = \sum_{m=0}^{\infty} \sum_{n=1}^{N_{m,d}} \widehat{\psi_{\mu,\alpha}^{(\epsilon)}}(m) \mathcal{Y}_{m,n}(\boldsymbol{\xi}) \mathcal{Y}_{m,n}(\boldsymbol{\eta}). \quad (4.28)$$

We note that the support condition of the restriction can be recast in terms of angular distance θ (between ξ , $\eta \in S^{d-1}$) as

$$0 \le \sqrt{2 - 2\cos(\theta)} \le \frac{1}{\epsilon} \implies 1 - \frac{1}{2\epsilon^2} \le \cos(\theta) \le 1.$$

Thus, we need only consider the range $\epsilon \geq \frac{1}{2}$ for the support parameter; the case $\epsilon = \frac{1}{2}$ ensures that the restricted function is globally supported on the entire sphere, whereas $\epsilon > \frac{1}{2}$ ensures that it is supported on a spherical cap of radius $\theta = \cos^{-1}\left(1 - \frac{1}{2\epsilon^2}\right)$.

Theorem 4.7 The spherical Fourier coefficients of the generalised Wendland function $\Psi_{\mu,\alpha}^{(\epsilon)}(\boldsymbol{\xi},\boldsymbol{\eta})$, with $\epsilon \geq \frac{1}{2}$, are given by

$$\widehat{\psi_{\mu,\alpha}^{(\epsilon)}}(m) = (2\pi)^{\frac{d-1}{2}} \frac{C_{\lambda - \frac{1}{2},\mu}}{\sqrt{2\pi}\epsilon^{d-1}} {}_{3}F_{2} \left[\begin{array}{c} -\left(m + \frac{d-3}{2}\right), m + \frac{d-1}{2}, \lambda - \frac{1}{2} \\ \lambda + \frac{\mu - 1}{2}, \lambda + \frac{\mu}{2} \end{array}; \frac{1}{4\epsilon^{2}} \right], \tag{4.29}$$



3 Page 10 of 21 S. Hubbert, J. Jäger

where, in analogy with (3.18), we have that

$$\lambda := \frac{d+1}{2} + \alpha \quad and \quad C_{\lambda - \frac{1}{2}, \mu} := \frac{2^{\lambda - \frac{1}{2}} \Gamma\left(\lambda - \frac{1}{2}\right) \Gamma(\mu + 1)}{\Gamma(2\lambda + \mu - 1)}. \tag{4.30}$$

Proof In view of (2.15), we need to evaluate

$$I(\gamma) = \int_0^\infty z J_{\gamma}^2(z) \widehat{\phi_{\mu,\alpha}^{(\epsilon)}}(z) dz$$

$$= \frac{C_{\lambda,\mu}}{\sqrt{2\pi}\epsilon^d} \int_0^\infty z J_{\gamma}^2(z) {}_1F_2 \left[\frac{\lambda}{\lambda + \frac{\mu}{2} \lambda + \frac{\mu+1}{2}}; -\left(\frac{z}{2\epsilon}\right)^2 \right] dz \quad \text{using (3.17)}.$$

The following identity is from [20, Section 6.2 (41)]

$$(J_{\gamma}(z))^{2} = (2^{\gamma} \Gamma(\gamma + 1))^{-2} z^{2\gamma} {}_{1} F_{2} \begin{bmatrix} \gamma + \frac{1}{2} \\ \gamma + 1 \ 2\gamma + 1 \end{bmatrix}; -z^{2}$$

and it allows us to express $I(\gamma)$ as an integral involving the product of two ${}_1F_2$ hypergeometric functions.

$$I(\gamma) = \frac{C_{\lambda,\mu}}{\sqrt{2\pi}\epsilon^{d}2^{2\gamma}\Gamma(\gamma+1)^{2}}$$
$$\int_{0}^{\infty} z^{2\gamma+1} {}_{1}F_{2} \left[\frac{\gamma+\frac{1}{2}}{\gamma+1}; -z^{2} \right] {}_{1}F_{2} \left[\frac{\lambda}{\lambda+\frac{\mu}{2}} \frac{\lambda+\frac{\mu+1}{2}}{\lambda+\frac{\mu+1}{2}}; -\left(\frac{z}{2\epsilon}\right)^{2} \right] dz.$$
(4.31)

The next identity holds for α , $\beta > 0$, $p \le q + 1$, and it is taken from [27, 2.22.2.1]

$${}_{p+1}F_{q+1}\begin{bmatrix}a_1 & \cdots & a_p & \alpha \\ b_1 & \cdots & b_q & \alpha + \beta \end{bmatrix}; z = \frac{\Gamma(\alpha + \beta)}{\Gamma(\alpha)\Gamma(\beta)} \int_0^1 t^{\alpha - 1} (1 - t)^{\beta - 1} {}_p F_q \begin{bmatrix}a_1 & \cdots & a_p \\ b_1 & \cdots & b_q \end{bmatrix}; zt dt.$$

$$(4.32)$$

Setting p = 0, q = 1, $\alpha = \lambda$, $b_1 = \lambda + \frac{\mu}{2}$ and $\beta = \frac{\mu + 1}{2}$, we have

$${}_{1}F_{2}\left[\begin{array}{c}\lambda\\\lambda+\frac{\mu}{2}\lambda+\frac{\mu+1}{2};-\left(\frac{z}{2\epsilon}\right)^{2}\right]$$

$$=\frac{\Gamma\left(\lambda+\frac{\mu+1}{2}\right)}{\Gamma(\lambda)\Gamma\left(\frac{\mu+1}{2}\right)}\int_{0}^{1}t^{\lambda-1}(1-t)^{\frac{\mu-1}{2}}{}_{0}F_{1}\left[\begin{array}{c}-\\\lambda+\frac{\mu}{2};-\left(\frac{z}{2\epsilon}\right)^{2}t\end{array}\right]dt.$$

Substituting this into (4.31) gives

$$I(\gamma) = \frac{C_{\lambda,\mu} \Gamma\left(\lambda + \frac{\mu+1}{2}\right)}{\sqrt{2\pi} \epsilon^d 2^{2\gamma} \Gamma(\gamma+1)^2 \Gamma(\lambda) \Gamma\left(\frac{\mu+1}{2}\right)} \int_0^1 t^{\lambda-1} (1-t)^{\frac{\mu-1}{2}} \mathcal{F}_{\gamma,\mu,\lambda}(t) dt,$$
(4.33)



where

$$\mathcal{F}_{\gamma,\mu,\lambda}(t) = \int_0^\infty z^{2\gamma+1} {}_0F_1 \left[\frac{-}{\lambda + \frac{\mu}{2}}; -\left(\frac{\sqrt{t}}{2\epsilon}\right)^2 z^2 \right] {}_1F_2 \left[\frac{\gamma + \frac{1}{2}}{\gamma + 1}; -z^2 \right] dz. \tag{4.34}$$

The next identity, which holds for a < b is taken from [21, 5.1b]

$$\begin{split} &\int_0^\infty z^{s-1} {}_0F_1 \bigg[\begin{matrix} - \\ 1+\rho \end{matrix}; -a^2 z^2 \bigg] {}_1F_2 \bigg[\begin{matrix} \alpha \\ \beta \end{matrix}; -b^2 z^2 \bigg] dz \\ &= \frac{1}{2} b^{-s} \frac{\Gamma\left(\frac{s}{2}\right) \Gamma\left(\alpha - \frac{s}{2}\right) \Gamma(\beta) \Gamma(1+\nu)}{\Gamma(\alpha) \Gamma\left(\beta - \frac{s}{2}\right) \Gamma\left(1+\nu - \frac{s}{2}\right)} {}_3F_2 \bigg[\begin{matrix} \frac{s}{2}, 1+\frac{s}{2}-\beta, \frac{s}{2}-\nu \\ 1+\frac{s}{2}-\alpha, 1+\rho \end{matrix}; \frac{a^2}{b^2} \bigg] \\ &+ \frac{1}{2} \frac{a^{2\alpha-s} \Gamma\left(1+\rho\right) \Gamma(1+\nu) \Gamma(\beta) \Gamma\left(\frac{s}{2}-\alpha\right)}{b^{2\alpha} \Gamma(1+\nu-\alpha) \Gamma\left(1+\rho+\alpha-\frac{s}{2}\right) \Gamma\left(\beta-\alpha\right)} {}_3F_2 \bigg[\begin{matrix} \alpha, 1+\alpha-\beta, \alpha-\nu \\ 1+\alpha-\frac{s}{2}, 1+\rho+\alpha-\frac{s}{2} \end{matrix}; \frac{a^2}{b^2} \bigg]. \end{split}$$

We observe that, since $\epsilon \ge \frac{1}{2}$ and 0 < t < 1, this identity can be used to evaluate $\mathcal{F}_{\gamma,\mu,\lambda}(t)$. Specifically, setting

$$s = 2(\gamma + 1), \ a = \frac{\sqrt{t}}{2\epsilon}, \ b = 1, \ \rho = \lambda + \frac{\mu}{2} - 1, \ \alpha = \gamma + \frac{1}{2}, \ \beta = \gamma + 1 \ \text{and} \ \nu = 2\gamma,$$

we find that

$$\mathcal{F}_{\gamma,\mu,\lambda}(t) = \frac{1}{2} \frac{\Gamma(2\gamma+1)\Gamma(\gamma+1)^{2}\Gamma\left(-\frac{1}{2}\right)}{\Gamma(\gamma+\frac{1}{2})\Gamma(0)\Gamma(\gamma)} {}_{3}F_{2} \begin{bmatrix} \gamma+1,1,-\gamma+1\\ \frac{3}{2},\lambda+\frac{\mu}{2} \end{bmatrix}; \frac{t}{4\epsilon^{2}} \end{bmatrix} + \frac{\epsilon}{\sqrt{t}} \frac{\Gamma\left(\lambda+\frac{\mu}{2}\right)\Gamma(2\gamma+1)\Gamma(\gamma+1)\Gamma\left(\frac{1}{2}\right)}{\Gamma\left(\gamma+\frac{1}{2}\right)\Gamma\left(\frac{1}{2}\right)} {}_{3}F_{2} \begin{bmatrix} \frac{1}{2}+\gamma,\frac{1}{2},\frac{1}{2}-\gamma\\ \frac{1}{2},\lambda+\frac{\mu-1}{2} \end{bmatrix}; \frac{t}{4\epsilon^{2}} \end{bmatrix}. (4.35)$$

We observe that the first term vanishes due to the appearance of $\Gamma(0)$ in the denominator of the multiplier. Furthermore, the $_3F_2$ function in the second term collapses to a $_2F_1$ variety due to the duplication of $\frac{1}{2}$ in the defining parameters. Thus, we are left with

$$\mathcal{F}_{\gamma,\mu,\lambda}(t) = \frac{\epsilon}{\sqrt{t}} \frac{\Gamma\left(\lambda + \frac{\mu}{2}\right) \Gamma(2\gamma + 1) \Gamma(\gamma + 1)}{\Gamma\left(\gamma + \frac{1}{2}\right) \Gamma\left(\lambda + \frac{\mu - 1}{2}\right)} {}_{2}F_{1} \left[\frac{\frac{1}{2} + \gamma, \frac{1}{2} - \gamma}{\lambda + \frac{\mu - 1}{2}}; \frac{t}{4\epsilon^{2}} \right]. \tag{4.36}$$



3 Page 12 of 21 S. Hubbert, J. Jäger

Inserting this into (4.33), we find that

$$\begin{split} I(\gamma) &= \frac{C_{\lambda,\mu} \Gamma\left(\lambda + \frac{\mu+1}{2}\right)}{\sqrt{2\pi} \epsilon^d 2^{2\gamma} \Gamma(\gamma+1)^2 \Gamma(\lambda) \Gamma\left(\frac{\mu+1}{2}\right)} \frac{\epsilon \cdot \Gamma\left(\lambda + \frac{\mu}{2}\right) \Gamma(2\gamma+1) \Gamma(\gamma+1)}{\Gamma\left(\gamma + \frac{1}{2}\right) \Gamma\left(\lambda + \frac{\mu-1}{2}\right)} \\ &\times \int_0^1 (1-t)^{\frac{\mu-1}{2}} t^{\lambda - \frac{3}{2}} {}_2F_1 \bigg[\frac{\frac{1}{2} + \gamma, \frac{1}{2} - \gamma}{\lambda + \frac{\mu-1}{2}} ; \frac{t}{4\epsilon^2} \bigg] dt, \\ &= \frac{C_{\lambda,\mu} \left(\lambda + \frac{\mu-1}{2}\right) \Gamma\left(\lambda + \frac{\mu}{2}\right)}{\sqrt{2\pi} \epsilon^{d-1} \Gamma(\lambda) \Gamma\left(\frac{\mu+1}{2}\right)} \int_0^1 (1-t)^{\frac{\mu-1}{2}} t^{\lambda - \frac{3}{2}} {}_2F_1 \bigg[\frac{\frac{1}{2} + \gamma, \frac{1}{2} - \gamma}{\lambda + \frac{\mu-1}{2}} ; \frac{t}{4\epsilon^2} \bigg] dt, \end{split}$$

where, in the final line, we have used the duplication formula for the Gamma function [1, 6.1.18]

$$\Gamma(2z) = \frac{2^{2z-1}}{\sqrt{\pi}} \Gamma(z) \Gamma\left(z + \frac{1}{2}\right),\tag{4.37}$$

with $z=\gamma+\frac{1}{2}$. Using (4.32) to replace the integral in the last equation, where we set $p=2, q=1, \alpha=\lambda-\frac{1}{2}, \beta=\frac{\mu+1}{2}, a_1=\frac{1}{2}+\gamma, a_2=\frac{1}{2}-\gamma, b_1=\lambda+\frac{\mu-1}{2}$ and $z=\frac{1}{4+2}$, we find

$$I(\gamma) = \frac{C_{\lambda,\mu} \left(\lambda + \frac{\mu - 1}{2}\right) \Gamma\left(\lambda - \frac{1}{2}\right)}{\pi \sqrt{2} \epsilon^{d - 1} \Gamma(\lambda)} {}_{3}F_{2} \left[\frac{\frac{1}{2} + \gamma, \frac{1}{2} - \gamma, \lambda - \frac{1}{2}}{\lambda + \frac{\mu - 1}{2}, \lambda + \frac{\mu}{2}}; \frac{1}{4\epsilon^{2}} \right]. \tag{4.38}$$

Recalling the definition of $C_{\lambda,\mu}$ (3.18), the multiplier of the $_3F_2$ hypergeometric function is given by

$$\underbrace{\frac{2^{\lambda}\Gamma(\lambda)\Gamma(\mu+1)}{\Gamma(2\lambda+\mu)}}_{C_{\lambda,\mu}} \underbrace{\frac{\left(\lambda+\frac{\mu-1}{2}\right)\Gamma\left(\lambda-\frac{1}{2}\right)}{\pi\sqrt{2}\epsilon^{d-1}\Gamma(\lambda)}}_{} = \underbrace{\frac{1}{2\pi\cdot\epsilon^{d-1}}\underbrace{\frac{2^{\lambda-\frac{1}{2}}\Gamma\left(\lambda-\frac{1}{2}\right)\Gamma(\mu+1)}{\Gamma(2\lambda+\mu-1)}}_{C_{\lambda-\frac{1}{2},\mu}}.$$

Thus, appealing to (2.15), we can conclude that

$$\widehat{\psi_{\mu,\alpha}^{(\epsilon)}}(m) = (2\pi)^{\frac{d-1}{2}} \frac{C_{\lambda - \frac{1}{2},\mu}}{\sqrt{2\pi}\epsilon^{d-1}} {}_{3}F_{2} \left[\begin{array}{c} -\left(m + \frac{d-3}{2}\right), m + \frac{d-1}{2}, \lambda - \frac{1}{2} \\ \lambda + \frac{\mu-1}{2}, \lambda + \frac{\mu}{2} \end{array}; \frac{1}{4\epsilon^{2}} \right].$$

5 Asymptotic decay of $\widehat{\psi_{\mu,\alpha}^{(\epsilon)}}(m)$

In this section, we investigate the asymptotic behaviour of the spherical Fourier coefficients of the generalised Wendland function. We take two approaches to this. First, we make use of the upper and lower bounds on the Euclidean Fourier transform (3.27) together with the Equation (2.15) to derive tight asymptotic bounds. Second, in the case where d is odd, we provide the precise asymptotic decay rate of the spherical



Fourier coefficients by using known large parameter asymptotic results for hypergeometric series. In addition, we present numerical evidence which suggests that the same precise asymptotic decay rate holds when d is even and leave this as an open problem.

5.1 Tight asymptotic bounds

The connection of the decay of the Fourier transform and the decay of the spherical Fourier coefficients was studied in [24]. We employ their results to prove the following:

Theorem 5.8 There exist positive constants $A_1 < A_2$ such that the spherical Fourier coefficients of the generalised Wendland functions $\Psi_{\mu,\alpha}^{(\epsilon)}(\xi,\eta)$ defined in (4.28) satisfy

$$\frac{A_1}{\left(m + \frac{d-2}{2}\right)^{2\lambda - 1}} \le \widehat{\psi_{\mu,\alpha}^{(\epsilon)}}(m) \le \frac{A_2}{\left(m + \frac{d-2}{2}\right)^{2\lambda - 1}},\tag{5.39}$$

for all m provided that $\alpha > 0$ and $\mu \geq \frac{d+1}{2} + \alpha$. As in the Euclidean case, this asymptotic behaviour implies that the zonal kernel $\Psi_{\mu,\alpha}^{(\epsilon)}(\xi,\eta)$ is the reproducing kernel for a Hilbert space that is norm equivalent to the Sobolev space $H^{\lambda-\frac{1}{2}}(S^{d-1})$.

Proof We recall that the spherical Fourier coefficients of the generalised Wendland functions are given by

$$\widehat{\psi_{\mu,\alpha}^{(\epsilon)}}(m) = (2\pi)^{\frac{d}{2}} I\left(m + \frac{d-2}{2}\right), \text{ where } I(\gamma) = \int_0^\infty z \widehat{\phi_{\mu,\alpha}^{(\epsilon)}}(z) J_\gamma^2(z) dz,$$

and further, from (3.27), that there exists positive constants $\kappa_1 < \kappa_2$ such that

$$\frac{\kappa_1 \epsilon^{2\alpha+1}}{(1+z^2)^{\lambda}} \leq \widehat{\phi_{\mu,\alpha}^{(\epsilon)}}(z) \leq \frac{\kappa_2 \epsilon^{2\alpha+1}}{(1+z^2)^{\lambda}}, \quad z \geq 0, \ \lambda = \frac{d+1}{2} + \alpha, \text{ and } \alpha > 0.$$

The radial function whose *d*-dimensional Fourier transform (2.2) coincides with $(1+z^2)^{-\lambda}$, where $\lambda > \frac{d}{2}$, is the Matern basis function (see [12] Section 3.1.1) and is given by

$$\mathcal{M}_{\lambda}(r) = \frac{1}{2^{\lambda - 1} \Gamma(\lambda)} r^{\lambda - \frac{d}{2}} \mathcal{K}_{\lambda - \frac{d}{2}}(r), \tag{5.40}$$

where \mathcal{K}_{ν} denotes the modified Bessel function of the second kind of order ν [1, Equation (9.6.22)].

Using the positivity of the integrand $I(\gamma)$ and the bounds on $\widehat{\phi_{\mu,\alpha}^{(\epsilon)}}(z)$, it follows that

$$\kappa_1 \epsilon^{2\alpha+1} \widehat{\psi}_{\lambda}(m) \le \widehat{\psi}_{\mu,\alpha}^{(\epsilon)}(m) \le \kappa_2 \epsilon^{2\alpha+1} \widehat{\psi}_{\lambda}(m),$$
(5.41)

where $\widehat{\psi}_{\lambda}(m)$ are the spherical Fourier coefficients of the Matern function restricted to S^{d-1} given by

$$\widehat{\psi_{\lambda}}(m) = (2\pi)^{\frac{d}{2}} \int_0^\infty z \widehat{\mathcal{M}_{\lambda}}(z) J_{m + \frac{d-2}{2}}^2(z) dz = (2\pi)^{\frac{d}{2}} \int_0^\infty \frac{z}{(1+z^2)^{\lambda}} J_{m + \frac{d-2}{2}}^2(z) dz.$$



3 Page 14 of 21 S. Hubbert, J. Jäger

Upper and lower bounds for the integral

$$\int_0^\infty \frac{z}{(1+z^2)^{\lambda}} J_{\nu}^2(z) dz,$$

were given in [24, Proposition 4.1]; setting the parameter $\nu = m + \frac{d-2}{2}$, they provide, for $m \to \infty$, that

$$\frac{(2\pi)^{\frac{d}{2}}C_{\lambda}2^{-2\lambda}}{\left(m+\frac{d-2}{2}\right)^{2\lambda-1}} \left[1 + O\left(\frac{1}{m+\frac{d-2}{2}}\right)\right] \leq \widehat{\psi_{\lambda}}(m) \leq \frac{(2\pi)^{\frac{d}{2}}C_{\lambda}}{\left(m+\frac{d-2}{2}\right)^{2\lambda-1}} \left[1 + O\left(\frac{1}{m+\frac{d-2}{2}}\right)\right],$$

where, following an application of (4.37), the constant above is given by

$$C_{\lambda} = \frac{\Gamma(2\lambda - 1)}{2^{2\lambda - 3}\Gamma^{2}(\lambda)} = \frac{2}{\sqrt{\pi}} \frac{\Gamma\left(\lambda - \frac{1}{2}\right)}{\Gamma(\lambda)}.$$

The higher order terms on the bound can be removed by multiplying the lower bound of the inequality by $\frac{1}{2}$ and the upper bound by 2. Doing so, and using (5.41), we have that

$$\frac{A_1'}{\left(m + \frac{d-2}{2}\right)^{2\lambda - 1}} \le \widehat{\psi_{\mu,\alpha}^{(\epsilon)}}(m) \le \frac{A_2'}{\left(m + \frac{d-2}{2}\right)^{2\lambda - 1}} \quad \text{as } m \to \infty,$$

where

$$0 < A_1' = \frac{1}{2^{2\lambda - 1}} \frac{(2\pi)^{\frac{d}{2}} \Gamma\left(\lambda - \frac{1}{2}\right) \kappa_1 \epsilon^{2\alpha + 1}}{\Gamma(\lambda) \sqrt{\pi}} < 4 \frac{(2\pi)^{\frac{d}{2}} \Gamma\left(\lambda - \frac{1}{2}\right) \kappa_2 \epsilon^{2\alpha + 1}}{\Gamma(\lambda) \sqrt{\pi}} = A_2'.$$

Since all $\widehat{\psi_{\mu,\alpha}^{(\epsilon)}}(m)$ are positive and finite, the constants A_1' , A_2' can be further adapted to A_1 , A_2 , possibly depending on ϵ , μ and α , such that (5.39) holds not only for $m > m_0$ for some $m_0 \ge 1$ but for all m.

5.2 Precise asymptotic decay rate

Theorem 5.9 Let $d \geq 3$ denote an odd positive integer. The spherical Fourier coefficients of the generalised Wendland functions $\Psi_{\mu,\alpha}^{(\epsilon)}(\xi,\eta)$ ($\xi,\eta\in S^{d-1}$) defined in (4.28) exhibit the following precise asymptotic decay

$$\widehat{\psi_{\mu,\alpha}^{(\epsilon)}}(m) \sim (2\pi)^{\frac{d-1}{2}} \frac{2^{\lambda - \frac{1}{2}} \Gamma\left(\lambda - \frac{1}{2}\right) \mu}{\sqrt{2\pi}} \frac{\epsilon^{2\alpha + 1}}{\left(m + \frac{d-1}{2}\right)^{2\lambda - 1}},\tag{5.42}$$

provided that $\alpha > 0$ and $\mu \ge \frac{d+1}{2} + \alpha$.



Proof The hypergeometric function appearing in the expression (4.29) for the spherical Fourier coefficients is given by

$${}_{3}F_{2}\left[-\frac{\left(m + \frac{d-3}{2} \right), m + \frac{d-1}{2}, \lambda - \frac{1}{2}}{\lambda + \frac{\mu-1}{2}, \lambda + \frac{\mu}{2}}; \frac{1}{4\epsilon^{2}} \right]. \tag{5.43}$$

When $d \ge 3$ is odd then, due to the appearance of a negative integer in the upper coefficient list, the series terminates and so it collapses to a hypergeometric polynomial of the form

$$_{3}F_{2}\begin{bmatrix} -n, n+c, a \\ b_{1}, b_{2} \end{bmatrix}, n \in \mathbb{Z}_{+}.$$
 (5.44)

In the case where $d \ge 2$ is even, the series does not terminate.

A survey of the literature in this area shows that there are very few known asymptotic results that apply to general ${}_3F_2$ hypergeometric functions for large parameters. Most of the known results apply to the case where the series terminates and, in this regard, we are fortunate that the limiting behaviour of (5.44) as $n \to \infty$ is covered in [13] where it is shown that provided none of the hypergeometric parameters (a, b_1, b_2, c) in (5.44) coincides with zero or with a negative integer, then with the following definitions

$$2\alpha = a - b_1 - b_2 + \frac{1}{2}$$
 and $z = \sin^2(\theta/2) \in (0, 1),$ (5.45)

we have the following asymptotic results.

 \diamond For $z \in (0, 1)$:

$${}_{3}F_{2}\left[\begin{matrix} -n & n+c, a \\ b_{1}, b_{2} \end{matrix}; z\right] = \frac{\Gamma(b_{1})\Gamma(b_{2})}{\Gamma(b_{1}-a)\Gamma(b_{2}-a)} \frac{1}{z^{a}} \frac{1}{(n+c)^{2a}} \left[1 + O\left(\frac{1}{(n+c)}\right)\right]$$

$$+\frac{\Gamma(b_1)\Gamma(b_2)(n+c)^{2\alpha}}{\sqrt{\pi}\Gamma(a)}\left[\frac{\left(\sin^2(\theta/2)\right)^{\alpha}\cos\left(\left(n+\frac{c}{2}\right)\theta+\pi\alpha\right)}{\left(\cos^2(\theta/2)\right)^{\alpha+\frac{c}{2}}}\right]+O\left((n+c)^{2\alpha-1}\right). \tag{5.46}$$



3 Page 16 of 21 S. Hubbert, J. Jäger

 \diamond For z=1:

$${}_{3}F_{2}\left[{-n,n+c,a \atop b_{1},b_{2}};1 \right] = \frac{\Gamma(b_{1})\Gamma(b_{2})}{\Gamma(b_{1}-a)\Gamma(b_{2}-a)} \frac{1}{(n+c)^{2a}} \left[1 + O\left(\frac{1}{(n+c)}\right) \right] + \frac{(-1)^{n}\Gamma(b_{1})\Gamma(b_{2})\Gamma(n+2c+4\alpha)}{\Gamma\left(c+2\alpha+\frac{1}{2}\right)\Gamma(a)\Gamma(n+c)} \left[1 - \frac{(c+4\alpha)\left(c+2\alpha-\frac{1}{2}\right)}{(n+c)} + O\left(\frac{1}{(n+c)^{2}}\right) \right]. \tag{5.47}$$

In our case, $n=m+\frac{d-3}{2}$, c=1, $a=\lambda-\frac{1}{2}$, $b_1=\lambda+\frac{\mu-1}{2}$, $b_2=\lambda+\frac{\mu}{2}$ and $z=\frac{1}{4\epsilon^2}$. Since $\lambda,\mu>\frac{1}{2}$, it is straightforward to check that these parameters satisfy the conditions associated with the above asymptotic formulae. Thus, we can set

$$2\alpha:=-\left(\lambda+\mu-\frac{1}{2}\right) \ \ \text{and} \ \ \sin^2\left(\frac{\theta}{2}\right):=\frac{1}{4\epsilon^2},$$

and employ (5.46) and (5.47) to yield the following asymptotic results. \diamond For $\epsilon > \frac{1}{2}$:

$${}_{3}F_{2}\left[-\frac{\left(m + \frac{d-3}{2}\right), m + \frac{d-1}{2}, \lambda - \frac{1}{2}}{\lambda + \frac{\mu-1}{2}, \lambda + \frac{\mu}{2}}; \frac{1}{4\epsilon^{2}} \right]$$

$$= \frac{\Gamma\left(\lambda + \frac{\mu-1}{2}\right)\Gamma\left(\lambda + \frac{\mu}{2}\right)(2\epsilon)^{2\lambda-1}}{\Gamma\left(\frac{\mu}{2}\right)\Gamma\left(\frac{\mu+1}{2}\right)\left(m + \frac{d-1}{2}\right)^{2\lambda-1}} \left[1 + O\left(\frac{1}{m + \frac{d-1}{2}}\right) \right]$$

$$+ \frac{\Gamma\left(\lambda + \frac{\mu-1}{2}\right)\Gamma\left(\lambda + \frac{\mu}{2}\right)2\epsilon\left(4\epsilon^{2} - 1\right)^{\frac{1}{2}(\lambda + \mu - \frac{3}{2})}}{\sqrt{\pi}\Gamma\left(\lambda - \frac{1}{2}\right)\left(m + \frac{d-1}{2}\right)^{\lambda + \mu - \frac{1}{2}}}$$

$$\times \left[\cos\left(\left(m + \frac{d-2}{2}\right)\theta - \frac{\pi}{2}\left(\lambda + \mu - \frac{1}{2}\right)\right) \right] + O\left(\frac{1}{\left(m + \frac{d-1}{2}\right)^{\lambda + \mu + \frac{1}{2}}}\right).$$

We observe that since $\mu \geq \lambda$, we have that

$$\lambda + \mu + \frac{1}{2} > \lambda + \mu - \frac{1}{2} \ge 2\lambda - \frac{1}{2} > 2\lambda - 1,$$



and so, in this case, the precise asymptotic decay of the hypergeometric function is determined by the first term of (5.48) and is given by

$${}_{3}F_{2}\left[-\frac{\left(m + \frac{d-3}{2} \right), m + \frac{d-1}{2}, \lambda - \frac{1}{2}}{\lambda + \frac{\mu-1}{2}, \lambda + \frac{\mu}{2}}; \frac{1}{4\epsilon^{2}} \right]$$

$$\sim \frac{\Gamma\left(\lambda + \frac{\mu-1}{2} \right) \Gamma\left(\lambda + \frac{\mu}{2} \right) (2\epsilon)^{2\lambda - 1}}{\Gamma\left(\frac{\mu}{2} \right) \Gamma\left(\frac{\mu+1}{2} \right) \left(m + \frac{d-1}{2} \right)^{2\lambda - 1}} = \frac{\Gamma\left(2\lambda + \mu - 1 \right) \epsilon^{2\lambda - 1}}{\Gamma\left(\mu \right)} \frac{1}{\left(m + \frac{d-1}{2} \right)^{2\lambda - 1}}$$

$$= \frac{2^{\lambda - \frac{1}{2}} \Gamma\left(\lambda - \frac{1}{2} \right) \mu}{C_{\lambda - \frac{1}{2}, \mu}} \frac{\epsilon^{2\lambda - 1}}{\left(m + \frac{d-1}{2} \right)^{2\lambda - 1}},$$
(5.49)

where the first equality follows by applying the duplication formula (4.37) with $z = \lambda + \frac{\mu - 1}{2}$ and $z = \frac{\mu}{2}$, the final equality follows from the definition of $C_{\lambda - \frac{1}{2}, \mu}$ (4.30). The asymptotic result for the spherical coefficients follows, in this case, directly from their definition (4.29).

$$\diamond$$
 For $\epsilon = \frac{1}{2}$:

$${}_{3}F_{2}\left[-\frac{\left(m + \frac{d-3}{2}\right), m + \frac{d-1}{2}, \lambda - \frac{1}{2}}{\lambda + \frac{\mu-1}{2}, \lambda + \frac{\mu}{2}}; 1 \right]$$

$$= \frac{\Gamma\left(\lambda + \frac{\mu-1}{2}\right)\Gamma\left(\lambda + \frac{\mu}{2}\right)}{\Gamma\left(\frac{\mu}{2}\right)\Gamma\left(\frac{\mu+1}{2}\right)\left(m + \frac{d-1}{2}\right)^{2\lambda - 1}} \left[1 + O\left(\frac{1}{m + \frac{d-1}{2}}\right) \right]$$

$$+ \frac{(-1)^{m + \frac{d-3}{2}}\Gamma\left(\lambda + \frac{\mu-1}{2}\right)\Gamma\left(\lambda + \frac{\mu}{2}\right)\Gamma\left(m + \frac{d-1}{2} - 2(\lambda + \mu - 1)\right)}{\Gamma\left(2 - \lambda - \mu\right)\Gamma\left(\lambda - \frac{1}{2}\right)\Gamma\left(m + \frac{d-1}{2}\right)}$$

$$\times \left[1 - \frac{2(1 - \lambda - \mu)^{2}}{m + \frac{d-1}{2}} + O\left(\frac{1}{\left(m + \frac{d-1}{2}\right)^{2}}\right) \right].$$
(5.50)

Applying [25, Equation (5.11.12)]

$$\frac{\Gamma(z+a)}{\Gamma(z+b)} \sim z^{a-b},\tag{5.51}$$

3 Page 18 of 21 S. Hubbert, J. Jäger

with $z = m + \frac{d-1}{2}$ we find that

$$\frac{\Gamma\left(m + \frac{d-1}{2} - 2(\lambda + \mu - 1)\right)}{\Gamma\left(m + \frac{d-1}{2}\right)} \sim \frac{1}{\left(m + \frac{d-1}{2}\right)^{2(\lambda + \mu - 1)}}.$$

Clearly, since $\mu \ge \lambda$ we have that $2(\lambda + \mu - 1) \ge 2(2\lambda - 1) > 2\lambda - 1$, and so the asymptotic behaviour of the hypergeometric function is determined by the first term of (5.50). Mirroring the concluding development in (5.49), we have that

$${}_{3}F_{2}\left[\begin{array}{ccc} -\left(m+\frac{d-3}{2}\right) & m+\frac{d-1}{2} & \lambda-\frac{1}{2} \\ \lambda+\frac{\mu-1}{2} & \lambda+\frac{\mu}{2} \end{array}; 1 \right]$$

$$\sim \frac{\Gamma\left(\lambda + \frac{\mu-1}{2}\right)\Gamma\left(\lambda + \frac{\mu}{2}\right)}{\Gamma\left(\frac{\mu}{2}\right)\Gamma\left(\frac{\mu+1}{2}\right)\left(m + \frac{d-1}{2}\right)^{2\lambda-1}} = \frac{2^{\lambda - \frac{1}{2}}\Gamma\left(\lambda - \frac{1}{2}\right)\mu}{C_{\lambda - \frac{1}{2},\mu}} \frac{\left(\frac{1}{2}\right)^{2\lambda - 1}}{\left(m + \frac{d-1}{2}\right)^{2\lambda - 1}},$$

and the asymptotic result for the spherical coefficients follows from (4.29).

The above result provides the precise asymptotic decay rate for the spherical Fourier coefficients in the important case of restricting the generalised Wendland functions to the 2-sphere S^2 , where there are enormous practical applications. One immediate application is to investigate the use of the suitably normalised generalised Wendland functions as a correlation model in the simulation of Gaussian random fields on the surface of the earth. In particular, with the precise asymptotic decay rate available, one can employ formula 6 of [2] to investigate the compatibility of the proposed generalised Wendland family with other commonly used correlation models; this is an obvious topic of future research. For the convenience of the reader, we state the decay for the case d=3 specifically

$$\widehat{\psi_{\mu,\alpha}^{(\epsilon)}}(m) \sim \sqrt{2\pi} \frac{2^{\alpha + \frac{3}{2}} \Gamma\left(\alpha + \frac{3}{2}\right) \mu \epsilon^{2\alpha + 1}}{\left(m + 1\right)^{2\alpha + 3}},\tag{5.52}$$

with $\alpha > 0$, $\mu \ge \alpha + 2$.

We have not established precise asymptotics for the case where the generalised Wendland functions are restricted to the circle S^1 and other odd-dimensional spheres; large parameter asymptotics are, to the best of our knowledge, not available for the non-polynomial case of the $_3F_2$ hypergeometric function (5.43). The numerical results in Tables 1, 2 and 3 show, for increasingly large values of m, the calcula-



m	Precise formula for $\widehat{\psi_{\mu,\alpha}^{(\epsilon)}}(m)$	Asymptotic formula for $\widehat{\psi_{\mu,\alpha}^{(\epsilon)}}(m)$
150	2.2287E-06	2.2060E-06
200	9.4002E-07	9.3297E-07
250	4.8114E-07	4.7839E-07
300	2.7854E-07	2.7712E-07

Table 1 Generalised Wendland parameters: $d=2, \epsilon=1, \alpha=\frac{1}{2}, \mu=\lambda+1$

tion of the coefficients (for odd-dimensional spheres) using formula (4.29) and also the value from the asymptotic formula (5.42). These computations were performed using WOLFRAM MATHEMATICA V12 and they strongly suggest that the established asymptotic behaviour from Theorem 5.9 also holds in the case where $d \ge 2$ is even. These numerical findings lead us to make the following conjecture.

Conjecture 5.10 Let $d \ge 2$ denotes an even positive integer. The spherical Fourier coefficients of the generalised Wendland functions $\Psi_{\mu,\alpha}^{(\epsilon)}(\xi,\eta)$ ($\xi,\eta\in S^{d-1}$) defined in (4.28) exhibit the following precise asymptotic decay

$$\widehat{\psi_{\mu,\alpha}^{(\epsilon)}}(m) \sim (2\pi)^{\frac{d-1}{2}} \frac{2^{\lambda - \frac{1}{2}} \Gamma\left(\lambda - \frac{1}{2}\right) \mu}{\sqrt{2\pi}} \frac{\epsilon^{2\alpha + 1}}{\left(m + \frac{d-1}{2}\right)^{2\lambda - 1}}.$$
 (5.53)

We conclude the paper by drawing the reader's attention to the close connection between the asymptotic formula for the decay of the Fourier transform of the generalised Wendland functions and that of the associated spherical Fourier coefficients. Recalling that $\lambda = \frac{d+1}{2} + \alpha$, we can define

$$\mathcal{K}_{\mu,\alpha}^{(d)} = \frac{2^{\frac{d+1}{2} + \alpha} \Gamma\left(\frac{d+1}{2} + \alpha\right) \mu \epsilon^{2\alpha + 1}}{\sqrt{2\pi}},$$

then revisiting (3.24) and (5.42), we have that

$$\widehat{\phi_{\mu,\alpha}^{(\epsilon)}}(z) \sim \frac{\mathcal{K}_{\mu,\alpha}^{(d)}}{\|z\|^{d+1+2\alpha}} \quad \text{and} \quad \widehat{\psi_{\mu,\alpha}^{(\epsilon)}}(m) \sim (2\pi)^{\frac{d-1}{2}} \frac{\mathcal{K}_{\mu,\alpha}^{(d-1)}}{\left(m + \frac{d-1}{2}\right)^{d+2\alpha}}.$$

Table 2 Generalised Wendland parameters: d = 4, $\epsilon = \frac{1}{2}$, $\alpha = 1$, $\mu = \lambda$

m	Precise formula for $\widehat{\psi_{\mu,\alpha}^{(\epsilon)}}(m)$	Asymptotic formula for $\widehat{\psi_{\mu,\alpha}^{(\epsilon)}}(m)$
100	4.1457E—11	4.0223E-11
200	6.6706E-13	6.5709E-13
400	1.0578E-14	1.0499E-14
800	1.6652E-16	1.6590E-16



3 Page 20 of 21 S. Hubbert, J. Jäger

m	Precise formula for $\widehat{\psi_{\mu,\alpha}^{(\epsilon)}}(m)$	Asymptotic formula for $\widehat{\psi_{\mu,\alpha}^{(\epsilon)}}(m)$
100	3.9103E-10	3.9959E-10
200	3.4127E-12	3.4018E-12
300	2.060E-13	2.0493E-13
400	2.7897E-14	2.7754E-14

Table 3 Generalised Wendland parameters: d = 6, $\epsilon = 2$, $\alpha = \frac{1}{2}$, $\mu = \lambda + 4$

Acknowledgements We thank the reviewers for their helpful comments and suggestions. We are especially grateful to one reviewer for pointing out how to significantly simplify one of our proofs and for giving detailed and precise remarks on the improvement of the paper.

Funding Open Access funding enabled and organized by Projekt DEAL. The work of Janin Jäger was funded by the Deutsche Forschungsgemeinschaft (DFG - German research foundation) - Projektnummer: 461449252.

Declarations

Conflict of interest The authors declare no competing interests.

Open Access This article is licensed under a Creative Commons Attribution 4.0 International License, which permits use, sharing, adaptation, distribution and reproduction in any medium or format, as long as you give appropriate credit to the original author(s) and the source, provide a link to the Creative Commons licence, and indicate if changes were made. The images or other third party material in this article are included in the article's Creative Commons licence, unless indicated otherwise in a credit line to the material. If material is not included in the article's Creative Commons licence and your intended use is not permitted by statutory regulation or exceeds the permitted use, you will need to obtain permission directly from the copyright holder. To view a copy of this licence, visit http://creativecommons.org/licenses/by/4. 0/.

References

- Abramowitz, M., Stegun, I.A.: Handbook of Mathematical Functions. National Bureau of Standards, Dover (1964)
- Arafat, A., Porcu, E., Bevilacqua, M., Mateu, J.: Equivalence and orthogonality of Gaussian measures on spheres. J. Multivar. Anal. 167, 308–318 (2018)
- 3. Bevilacqua, M., Faouzi, T., Furrer, R., Porcu, E.: Estimation and prediction using generalized Wendland covariance functions under fixed domain asymptotics. Ann. Stat. 47.2, 828–856 (2019)
- 4. Buhmann, M.D.: A new class of radial basis functions with compact support. Math. Comput. **70**, 307–318 (2001)
- Chernih, A., Hubbert, S.: Closed form representations and properties of the generalised Wendland functions. J. Approx. Theory 177, 17–33 (2014)
- Chernih, A.: Multiscale Wendland radial basis functions and applications to solving partial differential equations. PhD Thesis, University of New South Wales (2013)
- 7. Chen, D., Menegatto, V.A., Sun, X.: A necessary and sufficient condition for strictly positive definite functions on spheres. Proc. Amer. Math. Soc. 131, 2733–2740 (2003)
- Cuevas, F., Allard, D., Porcu, E.: Fast and exact simulation of Gaussian random fields defined on the sphere cross time. Stat. Comput., 1–8 (2019)
- Daley, D.J., Porcu, E.: Dimension walks and Schoenberg spectral measures. Proc. Amer. Math. Soc. 141, 1813–1824 (2013)



- De la Cerda, J.C., Alegria, A., Porcu, E.: Regularity properties and simulations of Gaussian random fields on the sphere cross time. Electronic Journal of Statistics 12, 399–426 (2018)
- 11. Emery, X., Furrer, R., Porcu, E.: A turning bands method for simulating isotropic Gaussian random fields on the sphere. Stat. Probab. Lett. **144**, 9–15 (2019)
- Fasshauer, G.E., McCourt, M.J.: Kernel-based approximation methods using Matlab. Vol. 19 World Scientific Publishing Company (2015)
- Fields, J.L.: Asymptotic expansions of a class of hypergeometric polynomials with respect to the order III. J. Math. Anal. Appl. 12, 593–601 (1965)
- 14. Fields, J.L., Ismail, M.: On the positivity of some $_1F_2$'s, SIAM J. Math. Anal. **6**(3), 551–559 (1975)
- 15. Gneiting, T.: Strictly and non-strictly definite functions on spheres. Bernoulli 19, 1327–1349 (2013)
- 16. Hubbert, S., Le Gia, Q.T., Morton, T.M.: Spherical radial basis functions, theory and applications, springer briefs in mathematics springer (2015)
- 17. Lantuéjoul, C., Freulon, X., Renard, D.: Spectral simulation of isotropic Gaussian random fields on a sphere. Mathematical Geosciences **51.8**, 999–1020 (2019)
- 18. Lang, A., Schwab, C.: Isotropic Gaussian random fields on the sphere: regularity, fast simulation and stochastic partial differential equations. Ann. Appl. Probab. **25.6**, 3047–3094 (2015)
- Le Gia, Q.T., Sloan, I.H., Wendland, H.: Multiscale analysis in Sobolev spaces on the sphere. SIAM J. Numer. Anal. 48(Issue 6), 2065–2090 (2010)
- 20. Luke, Y.L.: Special functions and their approximations: v. 1 Academic Press (1969)
- 21. Miller, A.R., Srivastava, H.M.: On the Mellin transform of a product of hypergeometric functions. The ANZIAM J. **40**, 222–237 (1998)
- 22. Mhaskar, H., Narcowich, F., Prestin, J., Ward, J.: L_p Bernstein estimates and approximation by spherical basis functions. Math. Comput. **79**, 1647–1679 (2010)
- Narcowich, F.J., Ward, J.D.: Scattered data interpolation on spheres: error estimates and locally supported basis functions. SIAM J. Math. Anal. 33, 1393–1410 (2002)
- Narcowich, F.J., Sun, X., Ward, J.D.: Approximation power of RBFs and their associated SBFs: a connection. Adv. Comput. Math. 27, 107–124 (2007)
- NIST digital library of mathematical functions: http://dlmf.nist.gov/, Release 1.1.7 of 2022-10-15
 Olver, F.W.J., Olde Daalhuis, A.B., Lozier, D.W., Schneider, B.I., Boisvert, R.F., Clark, C.W., Miller, B.R., Saunders, B.V., Cohl, H.S., McClain, M.A. (eds.) (2022)
- Porcu, E., Alegria, A., Furrer, R.: Modeling temporally evolving and spatially globally dependent data. Int. Stat. Rev. 86.2, 344–377 (2018)
- Prudnikov, A.P., Yu, A.B., Marichev, O.I.: Integrals and Series. Volume 3: More Special Functions, Gordon and Breach Science Publishers (1992)
- 28. Larsson, E., Schaback, R.: Scaling of radial basis functions. arXiv:2210.05617 (2022)
- 29. Schaback, R.: The missing Wendland functions. Adv. Comp. Math. 34, 67–81 (2011)
- 30. Schoenberg, I.J.: Positive definite functions on spheres. Duke Math. J. 9, 96–108 (1942)
- 31. Wendland, H.: Scattered Data Approximation Cambridge University Press (2005)
- Wendland, H.: Multiscale analysis in Sobolev spaces on bounded domains. Numer. Math. 116, 493– 517 (2010)
- Zastavnyi, V.P., Trigub, R.M.: Positive-definite splines of special form. Sbornik: Mathematics 193.12, 1771–1800 (2002)
- 34. Zastavnyi, V.P.: On some properties of Buhmann functions. Ukr. Math. J. 58, 8 (2006)

Publisher's note Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.

